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e Question No.1
Find the sentence which is grammatically incorrect.
Options:

1. More than 840 million people in the world do not have adequate food to meet their daily food and
nutritional requirements.

2. Words had to be prized out of him like stones of the ground.

3. Gandhi chided the lawyers for collecting big fee from the sharecroppers.

4. She wished she could be admitted more deeply into her brother’s affections and that someday he might
take her with him.

5. All are correct

Answer : Words had to be prized out of him like stones of the ground.

e Question No. 2
Find the sentence which is grammatically incorrect.
Options:

1. The prosecutor requested the judge to postpone the trial.

2. He was kneeling on the floor in the next room tinkering with a part of his motorcycle over some
newspaper spreaded on the carpet.

3. The landlords compelled all tenants to plant three twentieths or 15 per cent of their holdings with indigo
and surrender the entire indigo harvest as rent.

4. Diets lacking essential micronutrients — particularly iron, vitamin A, iodine and zinc - increase the risk for
disease, reduce lifespan and reduce mental abilities.

5. All are correct

Answer : He was kneeling on the floor in the next room tinkering with a part of his motorcycle over some

newspaper spreaded on the carpet.
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e Question No. 3
Find the sentence which is grammatically incorrect.
Options:

1. Breeding methods for insect pest resistance involve the same steps as those any other agronomic trait
such as yield or quality.

2. She was conscious of a vast world out there waiting for her and she knew instinctively that she would feel
as at home there as in the city which had always been her home.

3. A report came in that a peasant had been maltreated in a nearby village.

4. He wore new, shining black leathers and she a yellow dress with a kind of cape that flew out behind.

5. All are correct

Answer : Breeding methods for insect pest resistance involve the same steps as those any other agronomic trait

such as yield or quality.

e Question No. 4
Find the sentence which is grammatically incorrect.
Options:

1. A professional approach to what have been traditional practices of farm management give the much
needed boost to our food production.

2. The order has come from Berlin to teach only German in the schools of Alsace and Lorraine.

3. Your parents preferred to put you to work on a farm or at the mills, so as to have a little more money.

4. Primary producers in an aquatic ecosystem are various species like phytoplankton, algae and higher plants.

5. All are correct

Answer : A professional approach to what have been traditional practices of farm management give the much

needed boost to our food production.

Direction:
Choose a suitableword from the optionstofill in the blanks.



e Question No. 5

Companies have to

Options:

1. plunge

2. disruptive
3. volatility
4.reinin

5. None of these

Answer : rein in

Direction:

ixam

their unwanted expenditures to function smoothly.

Choose a suitable word from the optionsto fill in the blanks.

e Question No. 6

My fear of the disease

Options:

1. exacerbated
2. disruptions
3. leveraged
4. fostered

5. None of these

Answer : exacerbated

Direction:

after knowing the number of deaths it has caused till now.

Choose a suitable word from the optionsto fill in the blanks.

e Question No.7

The child agreed to have food,

reluctantly, when his mother said they were going to the park.

0(6
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Options:

1. Derided
2. Albeit

3. Disparate
4. Loftier

5. None of these
Answer : Albeit

Direction:
Choose a suitable word from the optionsto fill in the blanks.

Question No. 8

The opinions of the state and central governments were on the new policy.

Options:

1. Naysayers
2. Convergent
3. Albeit

4. Tall agenda

5. None of these
Answer : Convergent

Direction:
Choose a suitable word from the optionstofill in the blanks.

Question No. 9

These telemarketers have been calling me , even though I said | was not interested in their product.

Options:

1. lean and mean

2. vested interests
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3. retrogression
4. persistently

5. none of these
Answer : persistently

Direction:

In each of the questions given below, a sentenceis given which isdivided into four parts A, B, C and D. These four
partsmay or may not bein their correct position. The sentenceisthen followed by optionswith the correct
combination of partsthat should replace each other in order to make the sentence grammatically and contextually
correct. find the correct combination of partsthat replace each other. If the sentenceiscorrect asit is, select ‘5’ as
your option.

Question No. 10

Pushing them towards poverty and backwardness (A)/ altogether brings with it a grave risk of (B)/ one side of the

story, snatching away from girls their right of education (C)/ but while segregating classes on the basis of gender is

(D).
Options:

1.Only A-D

2.A-Cand B-D
3.A-D and B-C
4. A-Band C-D

5. The sentence is correct.
Answer : A-D and B-C

Direction:

In each of the questions given below, a sentenceis given which isdivided into four parts A, B, C and D. These four
partsmay or may not bein their correct position. The sentenceisthen followed by optionswith the correct
combination of partsthat should replace each other in order to make the sentence grammatically and contextually
correct. find the correct combination of partsthat replace each other. If the sentenceiscorrect asit is, select ‘5’ as
your option.

Question No. 1M

Such initiatives in the developing world (A)/and industrialisation in the early 1950s, (B)/it was possibly the most

ambitious of (C)/ when India inaugurated planning (D).
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Options:

1.Only A-D
2.0nly A-B
3.Both A-Cand B-D
4.Both A-D and B-C

5. The sentence is correct.
Answer : Only A-D

Direction:

In each of the questions given below, a sentence is given which isdivided into four partsA, B, C and D. These four
parts may or may not bein their correct position. The sentence isthen followed by optionswith the correct
combination of partsthat should replace each other in order to make the sentence grammatically and contextually
correct. find the correct combination of partsthat replace each other. If the sentenceiscorrect asit is, select ‘5’ as
your option.

e Question No. 12

The severe budgetary constraints meant (A)/ the actors living night and day among (B)/ that shooting had to take

place with (C)/actual sugarcane labourers by absorbing their processes (D).
Options:

1.Only A-D
2.Both A-D and B-C
3.Both A-Cand B-D
4. Only B-C

5. The sentence is correct.
Answer : Only B-C

Direction:

In each of the following sentences, one part of the sentence is emboldened. In the options, four alternativesare
given. Find out which alter native could replace the phrasein bold to make the sentence grammatically and
contextually correct. If the phraseiscorrect, select option 5, “No improvement required” asyour answer.

e Question No.13
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One day | want to walk acrossthetunnel to seewhether it is really dark inside without the light, even during the

day.
Options:

1. want to walk away the tunnel to see

2. want to walk through the tunnel to see
3. want to walk between the tunnel to see
4. want walking across the tunnel to see

5. No improvement required
Answer : want to walk through the tunnel to see

Direction:

In each of the following sentences, one part of the sentence is emboldened. I n the options, four alternativesare
given. Find out which alternative could replace the phrasein bold to make the sentence grammatically and
contextually correct. If the phraseiscorrect, select option 5, “No improvement required” asyour answer.

e Question No. 14

India will not export the raw materials to China even though China might say that they will reducethe levy on

imported goods.
Options:

1. even then China might say that they will reduce

2. even if China might say that they will reduce

3. even though China might say that they would reduce
4. even though China might say that they reduce

5. No improvement required
Answer : even if China might say that they will reduce

Direction:

In each of the following sentences, one part of the sentence isemboldened. I n the options, four alternativesare
given. Find out which alter native could replace the phrasein bold to make the sentence grammatically and
contextually correct. If the phraseiscorrect, select option 5, “No improvement required” asyour answer.

e Question No. 15
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Even if you teach me many times, | will never under stand to take advantage of a situation
Options:

1. understand as to take advantage of a situation

2. understand in order to take advantage of a situation
3. understand to took advantage of a situation

4. understand how to take advantage of a situation

5. No improvement required
Answer : understand how to take advantage of a situation

Direction:

Read the passage and answer the questionsthat follow.

In all of the world’s emerging economies, tourism is one of the primary industries driving growth and job creation.
Even a decade ago, tourists were already spending $295 billion every year in developing countries—which amounts
to roughly three times total overseas development assistance to the developing world in 2007—and interest in
under-explored and remote travel destinations continues to rise. This signals enormous potential for tourism-driven

development in Africa’s emerging markets over the long term.

As the sector became incorporated into the debate about global dependency in the 1970s and 1980s, a number of
scholars were skeptical of the potential for tourism to have a positive impact beyond strict measures of growth and
export earnings. Scholars and policymakers agree that encouraging the development of a robust tourism industry
has a direct, positive impact on economic growth by promoting investment in diverse, productive sectors across
the economy, such as in construction, infrastructure, local manufacturing, and consumer markets.There are also
substantial benefits from tourism that accrue at the local level, including improvements in income distribution,
regional development, and employment opportunities for remote and low-skilled workers, which both directly and
indirectly impacting poverty levels.Compared to other sectors, tourism also provides a disproportionately high
number of jobs for women, who are often difficult to integrate into the formal economy in developing countries. In
sub-Saharan Africa, where women are significantly more likely to be poor and employed in the informal economy,
women manage a majority of all hospitality businesses; in Ethiopia, Lesotho, and Mali, they manage at least 80

percent of them.

However, many African countries that have previously been considered unattractive tourist destinations due to

political instability, violence, or health crises have already managed to transform their images through successful
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tourism campaigns: For example, Rwanda features its population of endangered mountain gorillas, Mozambique its
beaches, and Ethiopia its ancient cultural attractions from the Abyssinian period. It remains to be seen, though,
whether these countries will experience the expected economic boom from tourism in the coming years, as has

been the case in Mauritius.

From the perspective of African governments and development organizations, though, the positive role of tourism
is clear—it represents a vital pathway to overcome challenges of development related to foreign exchange
earnings and central government debt. The World Bank and U.N. World Tourism Organization predict that tourism
will be one of the main drivers of economic growth in Africa over the coming decade. An increasing number of
countries, then, have made tourism a central pillar of their economic development and reform programs over the

near future.

Indeed, Africa’s emerging markets are currently characterized by opportunities for new economic partnerships,
diversifying market linkages, and increasing foreign investment and access to international capital. Because of these
processes, the continent exhibits a rising middle class with more interest in domestic travel, while improvements in
development and stability are making the region substantially more attractive to international visitors than in the
past. In this light, market analysts agree that the tourism industry provides one of the best opportunities for
capitalizing on the rise of Africa in coming years.In the future, growth in Africa’s tourism industry will primarily be
driven by two factors: globalization and infrastructure.

Question No. 16

What are the positive impacts that tourism would bring to the economy of a developing nation?

(i) a halt in construction and allied activities, that would help in the replenishment of natural resources.

(i) a boost in production of domestic goods and services.

(iii) a rise in the status of women, as they could find more job opportunities.

(iv) a downfall in remote and low-skilled workforce.

Options:

1.Onlyi

2.ii and iii
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3.0, iii and iv
4. i and iv

5. All are correct
Answer : ii and iii

Direction:

Read the passage and answer the questionsthat follow.

In all of the world’s emerging economies, tourism is one of the primary industries driving growth and job creation.
Even a decade ago, tourists were already spending $295 billion every year in developing countries—which amounts
to roughly three times total overseas development assistance to the developing world in 2007—and interest in
under-explored and remote travel destinations continues to rise. This signals enormous potential for tourism-driven

development in Africa’s emerging markets over the long term.

As the sector became incorporated into the debate about global dependency in the 1970s and 1980s, a number of
scholars were skeptical of the potential for tourism to have a positive impact beyond strict measures of growth and
export earnings. Scholars and policymakers agree that encouraging the development of a robust tourism industry
has a direct, positive impact on economic growth by promoting investment in diverse, productive sectors across
the economy, such as in construction, infrastructure, local manufacturing, and consumer markets.There are also
substantial benefits from tourism that accrue at the local level, including improvements in income distribution,
regional development, and employment opportunities for remote and low-skilled workers, which both directly and
indirectly impacting poverty levels.Compared to other sectors, tourism also provides a disproportionately high
number of jobs for women, who are often difficult to integrate into the formal economy in developing countries. In
sub-Saharan Africa, where women are significantly more likely to be poor and employed in the informal economy,
women manage a majority of all hospitality businesses; in Ethiopia, Lesotho, and Mali, they manage at least 80

percent of them.

However, many African countries that have previously been considered unattractive tourist destinations due to
political instability, violence, or health crises have already managed to transform their images through successful
tourism campaigns: For example, Rwanda features its population of endangered mountain gorillas, Mozambique its
beaches, and Ethiopia its ancient cultural attractions from the Abyssinian period. It remains to be seen, though,
whether these countries will experience the expected economic boom from tourism in the coming years, as has

been the case in Mauritius.
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From the perspective of African governments and development organizations, though, the positive role of tourism
is clear—it represents a vital pathway to overcome challenges of development related to foreign exchange
earnings and central government debt. The World Bank and U.N. World Tourism Organization predict that tourism
will be one of the main drivers of economic growth in Africa over the coming decade. An increasing number of
countries, then, have made tourism a central pillar of their economic development and reform programs over the

near future.

Indeed, Africa’s emerging markets are currently characterized by opportunities for new economic partnerships,
diversifying market linkages, and increasing foreign investment and access to international capital. Because of these
processes, the continent exhibits a rising middle class with more interest in domestic travel, while improvements in
development and stability are making the region substantially more attractive to international visitors than in the
past. In this light, market analysts agree that the tourism industry provides one of the best opportunities for
capitalizing on the rise of Africa in coming years.In the future, growth in Africa’s tourism industry will primarily be

driven by two factors: globalization and infrastructure.

Question No.17

How, according to the passage, did African countries transform themselves from unattractive to popular tourist

destinations?
Options:

1. Shifting from monarchy to democracy had a huge impact on the development of the tourism industry.

2. By introducing strict military policies to see a reduction in crime rates and other activities.

3. By investing in exports, to bring the much-needed foreign currency for the development of tourism and
the economy as a whole.

4. By promoting the attractions or resources of a particular region, such as culture or specific flora and fauna.

5. None of these
Answer : By promoting the attractions or resources of a particular region, such as culture or specific flora and fauna.

Direction:
Read the passage and answer the questionsthat follow.

In all of the world’s emerging economies, tourism is one of the primary industries driving growth and job creation.

Even a decade ago, tourists were already spending $295 billion every year in developing countries—which amounts
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to roughly three times total overseas development assistance to the developing world in 2007—and interest in
under-explored and remote travel destinations continues to rise. This signals enormous potential for tourism-driven

development in Africa’s emerging markets over the long term.

As the sector became incorporated into the debate about global dependency in the 1970s and 1980s, a number of
scholars were skeptical of the potential for tourism to have a positive impact beyond strict measures of growth and
export earnings. Scholars and policymakers agree that encouraging the development of a robust tourism industry
has a direct, positive impact on economic growth by promoting investment in diverse, productive sectors across
the economy, such as in construction, infrastructure, local manufacturing, and consumer markets.There are also
substantial benefits from tourism that accrue at the local level, including improvements in income distribution,
regional development, and employment opportunities for remote and low-skilled workers, which both directly and
indirectly impacting poverty levels.Compared to other sectors, tourism also provides a disproportionately high
number of jobs for women, who are often difficult to integrate into the formal economy in developing countries. In
sub-Saharan Africa, where women are significantly more likely to be poor and employed in the informal economy,
women manage a majority of all hospitality businesses; in Ethiopia, Lesotho, and Mali, they manage at least 80

percent of them.

However, many African countries that have previously been considered unattractive tourist destinations due to
political instability, violence, or health crises have already managed to transform their images through successful
tourism campaigns: For example, Rwanda features its population of endangered mountain gorillas, Mozambique its
beaches, and Ethiopia its ancient cultural attractions from the Abyssinian period. It remains to be seen, though,
whether these countries will experience the expected economic boom from tourism in the coming years, as has

been the case in Mauritius.

From the perspective of African governments and development organizations, though, the positive role of tourism
is clear—it represents a vital pathway to overcome challenges of development related to foreign exchange
earnings and central government debt. The World Bank and U.N. World Tourism Organization predict that tourism
will be one of the main drivers of economic growth in Africa over the coming decade. An increasing number of
countries, then, have made tourism a central pillar of their economic development and reform programs over the

near future.

Indeed, Africa’s emerging markets are currently characterized by opportunities for new economic partnerships,
diversifying market linkages, and increasing foreign investment and access to international capital. Because of these

processes, the continent exhibits a rising middle class with more interest in domestic travel, while improvements in
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development and stability are making the region substantially more attractive to international visitors than in the
past. In this light, market analysts agree that the tourism industry provides one of the best opportunities for
capitalizing on the rise of Africa in coming years.In the future, growth in Africa’s tourism industry will primarily be

driven by two factors: globalization and infrastructure.

Question No. 18

What challenges can be addressed by the development of tourism, according to the African governments and

development organizations?
Options:

1. The challenges of air pollution and environmental degradation.

2. The challenges of increasing violence in African nations.

3. The challenge of being called a developing nation by the developed countries.
4. The challenge of representation in the U.N General Assembly.

5.The challenge of public debt and forex reserve
Answer : The challenge of public debt and forex reserve

Direction:

Read the passage and answer the questionsthat follow.

In all of the world’s emerging economies, tourism is one of the primary industries driving growth and job creation.
Even a decade ago, tourists were already spending $295 billion every year in developing countries—which amounts
to roughly three times total overseas development assistance to the developing world in 2007—and interest in
under-explored and remote travel destinations continues to rise. This signals enormous potential for tourism-driven

development in Africa’s emerging markets over the long term.

As the sector became incorporated into the debate about global dependency in the 1970s and 1980s, a number of
scholars were skeptical of the potential for tourism to have a positive impact beyond strict measures of growth and
export earnings. Scholars and policymakers agree that encouraging the development of a robust tourism industry
has a direct, positive impact on economic growth by promoting investment in diverse, productive sectors across
the economy, such as in construction, infrastructure, local manufacturing, and consumer markets.There are also
substantial benefits from tourism that accrue at the local level, including improvements in income distribution,

regional development, and employment opportunities for remote and low-skilled workers, which both directly and
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indirectly impacting poverty levels.Compared to other sectors, tourism also provides a disproportionately high
number of jobs for women, who are often difficult to integrate into the formal economy in developing countries. In
sub-Saharan Africa, where women are significantly more likely to be poor and employed in the informal economy,
women manage a majority of all hospitality businesses; in Ethiopia, Lesotho, and Mali, they manage at least 80

percent of them.

However, many African countries that have previously been considered unattractive tourist destinations due to
political instability, violence, or health crises have already managed to transform their images through successful
tourism campaigns: For example, Rwanda features its population of endangered mountain gorillas, Mozambique its
beaches, and Ethiopia its ancient cultural attractions from the Abyssinian period. It remains to be seen, though,
whether these countries will experience the expected economic boom from tourism in the coming years, as has

been the case in Mauritius.

From the perspective of African governments and development organizations, though, the positive role of tourism
is clear—it represents a vital pathway to overcome challenges of development related to foreign exchange
earnings and central government debt. The World Bank and U.N. World Tourism Organization predict that tourism
will be one of the main drivers of economic growth in Africa over the coming decade. An increasing number of
countries, then, have made tourism a central pillar of their economic development and reform programs over the

near future.

Indeed, Africa’s emerging markets are currently characterized by opportunities for new economic partnerships,
diversifying market linkages, and increasing foreign investment and access to international capital. Because of these
processes, the continent exhibits a rising middle class with more interest in domestic travel, while improvements in
development and stability are making the region substantially more attractive to international visitors than in the
past. In this light, market analysts agree that the tourism industry provides one of the best opportunities for
capitalizing on the rise of Africa in coming years.In the future, growth in Africa’s tourism industry will primarily be

driven by two factors: globalization and infrastructure.
Question No. 19
What has increased because of new opportunities presented by Africa’s emerging markets?

Options:

1. Domestic travel only, as people are getting more income to travel to places within their budget.
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2. International travel only, as more foreigners wish to discover Africa.

3. Both domestic and international travel have increased.

4. The public debt has increased, as government has to spend more on infrastructure, but are getting only
less returns.

5. The probability of Africa becoming a great contributor to the increasing greenhouse gas emission has

increased, because of development of tourism.
Answer : Both domestic and international travel have increased.

Direction:

Read the passage and answer the questionsthat follow.

In all of the world’s emerging economies, tourism is one of the primary industries driving growth and job creation.
Even a decade ago, tourists were already spending $295 billion every year in developing countries—which amounts
to roughly three times total overseas development assistance to the developing world in 2007—and interest in
under-explored and remote travel destinations continues to rise. This signals enormous potential for tourism-driven

development in Africa’s emerging markets over the long term.

As the sector became incorporated into the debate about global dependency in the 1970s and 1980s, a number of
scholars were skeptical of the potential for tourism to have a positive impact beyond strict measures of growth and
export earnings. Scholars and policymakers agree that encouraging the development of a robust tourism industry
has a direct, positive impact on economic growth by promoting investment in diverse, productive sectors across
the economy, such as in construction, infrastructure, local manufacturing, and consumer markets.There are also
substantial benefits from tourism that accrue at the local level, including improvements in income distribution,
regional development, and employment opportunities for remote and low-skilled workers, which both directly and
indirectly impacting poverty levels.Compared to other sectors, tourism also provides a disproportionately high
number of jobs for women, who are often difficult to integrate into the formal economy in developing countries. In
sub-Saharan Africa, where women are significantly more likely to be poor and employed in the informal economy,
women manage a majority of all hospitality businesses; in Ethiopia, Lesotho, and Mali, they manage at least 80

percent of them.

However, many African countries that have previously been considered unattractive tourist destinations due to
political instability, violence, or health crises have already managed to transform their images through successful
tourism campaigns: For example, Rwanda features its population of endangered mountain gorillas, Mozambique its

beaches, and Ethiopia its ancient cultural attractions from the Abyssinian period. It remains to be seen, though,
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whether these countries will experience the expected economic boom from tourism in the coming years, as has

been the case in Mauritius.

From the perspective of African governments and development organizations, though, the positive role of tourism
is clear—it represents a vital pathway to overcome challenges of development related to foreign exchange
earnings and central government debt. The World Bank and U.N. World Tourism Organization predict that tourism
will be one of the main drivers of economic growth in Africa over the coming decade. An increasing number of
countries, then, have made tourism a central pillar of their economic development and reform programs over the

near future.

Indeed, Africa’s emerging markets are currently characterized by opportunities for new economic partnerships,
diversifying market linkages, and increasing foreign investment and access to international capital. Because of these
processes, the continent exhibits a rising middle class with more interest in domestic travel, while improvements in
development and stability are making the region substantially more attractive to international visitors than in the
past. In this light, market analysts agree that the tourism industry provides one of the best opportunities for
capitalizing on the rise of Africa in coming years.In the future, growth in Africa’s tourism industry will primarily be

driven by two factors: globalization and infrastructure.
Question No. 20

Which of the following is/are true according to the passage?

(i) 10 years ago, tourism was not at all developed in developing countries, and it never brought them any

substantial income.

(ii) Within a few years, countries like Rwanda, Ethiopia and Mozambique were able to achieve the development and

economic boom like Mauritius.

(iii) World organisations have predicted that tourism will be one of the central pillars of economic development in

African nations.

(iv) Globalisation and infrastructure development have important roles to play in promoting Africa’s tourism

industry.

Options:
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1. Bothiand ii
2. ii, iii and iv
3.iiiand iv

4. iiand iv

5. All are correct
Answer : iii and iv

Direction:

Read the passage and answer the questionsthat follow.

In all of the world’s emerging economies, tourism is one of the primary industries driving growth and job creation.
Even a decade ago, tourists were already spending $295 billion every year in developing countries—which amounts
to roughly three times total overseas development assistance to the developing world in 2007—and interest in
under-explored and remote travel destinations continues to rise. This signals enormous potential for tourism-driven

development in Africa’s emerging markets over the long term.

As the sector became incorporated into the debate about global dependency in the 1970s and 1980s, a number of
scholars were skeptical of the potential for tourism to have a positive impact beyond strict measures of growth and
export earnings. Scholars and policymakers agree that encouraging the development of a robust tourism industry
has a direct, positive impact on economic growth by promoting investment in diverse, productive sectors across
the economy, such as in construction, infrastructure, local manufacturing, and consumer markets.There are also
substantial benefits from tourism that accrue at the local level, including improvements in income distribution,
regional development, and employment opportunities for remote and low-skilled workers, which both directly and
indirectly impacting poverty levels.Compared to other sectors, tourism also provides a disproportionately high
number of jobs for women, who are often difficult to integrate into the formal economy in developing countries. In
sub-Saharan Africa, where women are significantly more likely to be poor and employed in the informal economy,
women manage a majority of all hospitality businesses; in Ethiopia, Lesotho, and Mali, they manage at least 80

percent of them.

However, many African countries that have previously been considered unattractive tourist destinations due to
political instability, violence, or health crises have already managed to transform their images through successful
tourism campaigns: For example, Rwanda features its population of endangered mountain gorillas, Mozambique its
beaches, and Ethiopia its ancient cultural attractions from the Abyssinian period. It remains to be seen, though,

whether these countries will experience the expected economic boom from tourism in the coming years, as has
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been the case in Mauritius.

From the perspective of African governments and development organizations, though, the positive role of tourism
is clear—it represents a vital pathway to overcome challenges of development related to foreign exchange
earnings and central government debt. The World Bank and U.N. World Tourism Organization predict that tourism
will be one of the main drivers of economic growth in Africa over the coming decade. An increasing number of
countries, then, have made tourism a central pillar of their economic development and reform programs over the

near future.

Indeed, Africa’s emerging markets are currently characterized by opportunities for new economic partnerships,
diversifying market linkages, and increasing foreign investment and access to international capital. Because of these
processes, the continent exhibits a rising middle class with more interest in domestic travel, while improvements in
development and stability are making the region substantially more attractive to international visitors than in the
past. In this light, market analysts agree that the tourism industry provides one of the best opportunities for
capitalizing on the rise of Africa in coming years.In the future, growth in Africa’s tourism industry will primarily be

driven by two factors: globalization and infrastructure.

Question No. 21
Which of the following is a near antonym of the word ‘skeptical’?
Options:

1. suspenseful
2. unorthodox
3. cynical

4.incredulous

5. certain
Answer : certain

Direction:

Read the passage and answer the questionsthat follow.

In all of the world’s emerging economies, tourism is one of the primary industries driving growth and job creation.
Even a decade ago, tourists were already spending $295 billion every year in developing countries—which amounts

to roughly three times total overseas development assistance to the developing world in 2007—and interest in
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under-explored and remote travel destinations continues to rise. This signals enormous potential for tourism-driven

development in Africa’s emerging markets over the long term.

As the sector became incorporated into the debate about global dependency in the 1970s and 1980s, a number of
scholars were skeptical of the potential for tourism to have a positive impact beyond strict measures of growth and
export earnings. Scholars and policymakers agree that encouraging the development of a robust tourism industry
has a direct, positive impact on economic growth by promoting investment in diverse, productive sectors across
the economy, such as in construction, infrastructure, local manufacturing, and consumer markets.There are also
substantial benefits from tourism that accrue at the local level, including improvements in income distribution,
regional development, and employment opportunities for remote and low-skilled workers, which both directly and
indirectly impacting poverty levels.Compared to other sectors, tourism also provides a disproportionately high
number of jobs for women, who are often difficult to integrate into the formal economy in developing countries. In
sub-Saharan Africa, where women are significantly more likely to be poor and employed in the informal economy,
women manage a majority of all hospitality businesses; in Ethiopia, Lesotho, and Mali, they manage at least 80

percent of them.

However, many African countries that have previously been considered unattractive tourist destinations due to
political instability, violence, or health crises have already managed to transform their images through successful
tourism campaigns: For example, Rwanda features its population of endangered mountain gorillas, Mozambique its
beaches, and Ethiopia its ancient cultural attractions from the Abyssinian period. It remains to be seen, though,
whether these countries will experience the expected economic boom from tourism in the coming years, as has

been the case in Mauritius.

From the perspective of African governments and development organizations, though, the positive role of tourism
is clear—it represents a vital pathway to overcome challenges of development related to foreign exchange
earnings and central government debt. The World Bank and U.N. World Tourism Organization predict that tourism
will be one of the main drivers of economic growth in Africa over the coming decade. An increasing number of
countries, then, have made tourism a central pillar of their economic development and reform programs over the

near future.

Indeed, Africa’s emerging markets are currently characterized by opportunities for new economic partnerships,
diversifying market linkages, and increasing foreign investment and access to international capital. Because of these
processes, the continent exhibits a rising middle class with more interest in domestic travel, while improvements in

development and stability are making the region substantially more attractive to international visitors than in the
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past. In this light, market analysts agree that the tourism industry provides one of the best opportunities for
capitalizing on the rise of Africa in coming years.In the future, growth in Africa’s tourism industry will primarily be

driven by two factors: globalization and infrastructure.

Question No. 22
Which of the following is a synonym of the word ‘vital?
Options:

1. competent

2. indispensable
3. approximate
4. peripheral

5. buoyant
Answer : indispensable

Direction:

Read the passage and answer the questionsthat follow.

In all of the world’s emerging economies, tourism is one of the primary industries driving growth and job creation.
Even a decade ago, tourists were already spending $295 billion every year in developing countries—which amounts
to roughly three times total overseas development assistance to the developing world in 2007—and interest in
under-explored and remote travel destinations continues to rise. This signals enormous potential for tourism-driven

development in Africa’s emerging markets over the long term.

As the sector became incorporated into the debate about global dependency in the 1970s and 1980s, a number of
scholars were skeptical of the potential for tourism to have a positive impact beyond strict measures of growth and
export earnings. Scholars and policymakers agree that encouraging the development of a robust tourism industry
has a direct, positive impact on economic growth by promoting investment in diverse, productive sectors across
the economy, such as in construction, infrastructure, local manufacturing, and consumer markets.There are also
substantial benefits from tourism that accrue at the local level, including improvements in income distribution,
regional development, and employment opportunities for remote and low-skilled workers, which both directly and
indirectly impacting poverty levels.Compared to other sectors, tourism also provides a disproportionately high

number of jobs for women, who are often difficult to integrate into the formal economy in developing countries. In
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sub-Saharan Africa, where women are significantly more likely to be poor and employed in the informal economy,
women manage a majority of all hospitality businesses; in Ethiopia, Lesotho, and Mali, they manage at least 80

percent of them.

However, many African countries that have previously been considered unattractive tourist destinations due to
political instability, violence, or health crises have already managed to transform their images through successful
tourism campaigns: For example, Rwanda features its population of endangered mountain gorillas, Mozambique its
beaches, and Ethiopia its ancient cultural attractions from the Abyssinian period. It remains to be seen, though,
whether these countries will experience the expected economic boom from tourism in the coming years, as has

been the case in Mauritius.

From the perspective of African governments and development organizations, though, the positive role of tourism
is clear—it represents a vital pathway to overcome challenges of development related to foreign exchange
earnings and central government debt. The World Bank and U.N. World Tourism Organization predict that tourism
will be one of the main drivers of economic growth in Africa over the coming decade. An increasing number of
countries, then, have made tourism a central pillar of their economic development and reform programs over the

near future.

Indeed, Africa’s emerging markets are currently characterized by opportunities for new economic partnerships,
diversifying market linkages, and increasing foreign investment and access to international capital. Because of these
processes, the continent exhibits a rising middle class with more interest in domestic travel, while improvements in
development and stability are making the region substantially more attractive to international visitors than in the
past. In this light, market analysts agree that the tourism industry provides one of the best opportunities for
capitalizing on the rise of Africa in coming years.In the future, growth in Africa’s tourism industry will primarily be

driven by two factors: globalization and infrastructure.
Question No. 23
Which of the following is a synonym of the word ‘driven’?

Options:

1. proposed
2. prepared

3. propelled
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4. processed

5. practical
Answer : propelled

Direction:

Six statements ar e given below, which arejumbled in any random order. These statementswill form a coherent and
meaningful paragraph, when arranged in the correct sequence. Arrange the sentencesin theright order and answer
the questionsthat follow.

(a) One of the largest aspects of behavioural change centres on our own habits.

(b) It is also very helpful to learn more about habits, including the science behind them, to enable us to actually

develop these healthy positive habits for lasting lifestyle change.
(c) Behaviour has a tremendous influence on our health.

(d) William James, a famous Harvard psychologist and philosopher who, in an attempt to understand this science,
led some of the earliest investigations into habits and revealed that daily lives of humans and other living creatures

can actually be described as “bundles of habits”.

(e) If we can develop and focus on the right kind of habits, it gives us the power to turn our best intentions and

knowledge about lifestyle into reality.

(f) Even the most comprehensive lifestyle plan, including detailed diet and exercise instructions can still fail unless it
includes a sound behaviour modification component.

Question No. 24

Which of the following is the third sentence of the passage?

Options:

1b
2.c
3.e
4.f

5.a

Answer: a
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Direction:

Six statements ar e given below, which are jumbled in any random order. These statements will form a coherent and
meaningful paragraph, when arranged in the correct sequence. Arrange the sentencesin theright order and answer
the questionsthat follow.

(a) One of the largest aspects of behavioural change centres on our own habits.

(b) It is also very helpful to learn more about habits, including the science behind them, to enable us to actually

develop these healthy positive habits for lasting lifestyle change.
(c) Behaviour has a tremendous influence on our health.

(d) William James, a famous Harvard psychologist and philosopher who, in an attempt to understand this science,
led some of the earliest investigations into habits and revealed that daily lives of humans and other living creatures

can actually be described as “bundles of habits”.

(e) If we can develop and focus on the right kind of habits, it gives us the power to turn our best intentions and

knowledge about lifestyle into reality.

(f) Even the most comprehensive lifestyle plan, including detailed diet and exercise instructions can still fail unless it

includes a sound behaviour modification component.

Question No. 25
Which of the following is the fifth sentence of the passage?
Options:

1.d
2.e
3.c
4.b

5.f
Answer: b

Direction:

Six statements ar e given below, which are jumbled in any random order. These statementswill form a coherent and
meaningful paragraph, when arranged in the correct sequence. Arrange the sentencesin theright order and answer
the questions that follow.
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(a) One of the largest aspects of behavioural change centres on our own habits.

(b) It is also very helpful to learn more about habits, including the science behind them, to enable us to actually

develop these healthy positive habits for lasting lifestyle change.
(c) Behaviour has a tremendous influence on our health.

(d) William James, a famous Harvard psychologist and philosopher who, in an attempt to understand this science,
led some of the earliest investigations into habits and revealed that daily lives of humans and other living creatures

can actually be described as “bundles of habits”.

(e) If we can develop and focus on the right kind of habits, it gives us the power to turn our best intentions and

knowledge about lifestyle into reality.

(f) Even the most comprehensive lifestyle plan, including detailed diet and exercise instructions can still fail unless it

includes a sound behaviour modification component.

Question No. 26
Which of the following is the second sentence of the passage?
Options:

JaG
2.3
3.f
4.d

5.e
Answer : f

Direction:

Six statements ar e given below, which are jumbled in any random order. These statementswill form a coherent and
meaningful paragraph, when arranged in the correct sequence. Arrange the sentencesin theright order and answer
the questions that follow.

(a) One of the largest aspects of behavioural change centres on our own habits.

(b) It is also very helpful to learn more about habits, including the science behind them, to enable us to actually

develop these healthy positive habits for lasting lifestyle change.
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(c) Behaviour has a tremendous influence on our health.

(d) William James, a famous Harvard psychologist and philosopher who, in an attempt to understand this science,
led some of the earliest investigations into habits and revealed that daily lives of humans and other living creatures

can actually be described as “bundles of habits”.

(e) If we can develop and focus on the right kind of habits, it gives us the power to turn our best intentions and

knowledge about lifestyle into reality.

(f) Even the most comprehensive lifestyle plan, including detailed diet and exercise instructions can still fail unless it
includes a sound behaviour modification component.

Question No. 27

Which of the following is the fourth sentence of the passage?

Options:

le
2. f
3.C
4.a

5.b
Answer: e

Direction:

Six statements ar e given below, which are jumbled in any random order. These statements will form a coherent and
meaningful paragraph, when arranged in the correct sequence. Arrange the sentencesin theright order and answer
the questionsthat follow.

(a) One of the largest aspects of behavioural change centres on our own habits.

(b) It is also very helpful to learn more about habits, including the science behind them, to enable us to actually

develop these healthy positive habits for lasting lifestyle change.
(c) Behaviour has a tremendous influence on our health.

(d) William James, a famous Harvard psychologist and philosopher who, in an attempt to understand this science,

led some of the earliest investigations into habits and revealed that daily lives of humans and other living creatures
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can actually be described as “bundles of habits”.

(e) If we can develop and focus on the right kind of habits, it gives us the power to turn our best intentions and

knowledge about lifestyle into reality.

(f) Even the most comprehensive lifestyle plan, including detailed diet and exercise instructions can still fail unless it

includes a sound behaviour modification component.

e Question No. 28

Which of the following is the sixth (last) sentence of the passage?
Options:

1b
2.d
3.e
4.f

5.a
Answer: d

Direction:

In the questions, the sentence is split into five parts. These partsarenot given in their proper order. Read the
sentence and find out which of the five combinationsis correct.

e Question No. 29

For the purposes of the survey, only (a)/ the margin of error may be substantial(b)/3% of rural households were

surveyed by the agencyfor (c)/it is important to note that (d)/the updated numbers and so (e).
Options:

1. becad
2. adecb
3. daceb
4. ecdba

5. cbead
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Answer : daceb

Direction:

In the questions, the sentenceis split into five parts. These partsarenot given in their proper order. Read the
sentence and find out which of the five combinationsis correct.

e Question No. 30

To ensuring that the whole world (a)/in the global market of pharmaceuticals (b)/ India’s vaccine manufacturers as

vital (c)/the pandemic burnished the credentials of (d)/accessed medicine equitably (e).
Options:

1. bdcae
2. aechd
3. ceadb
4. daebc

5. eacbd

Answer : bdcae

e Question No. 31
By giving a discount of 34% on the market price of an article, the trader earns a profit of 10%. If the difference
between the market price and the cost price of the article is Rs.60.What is the market price of the article?

Options:

1.Rs.120
2.Rs.100
3.Rs.150
4.Rs.250

5.Rs.180

Answer : Rs.150

e Question No. 32
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‘A" and 'B' together can complete a work in 8 days, while 'B' and 'C' together can complete the same work in 10 days.
If 'B' alone can complete the work in 20 days, find the approximate time taken by all three together to complete

57.5% of the work.
Options:

1. 26 days
2.20.5 days
3.8.9 days
4.5 days

5.3.29 days

Answer : 3.29 days

Question No. 33

The income of a person is Rs.12000 and his expenditure is Rs.8000. In the next year his income and expenditure is

increased by 10% and 20% respectively. His saving is what percent less than that of the previous saving?
Options:

1.10%
2.5%
3.12%
4.8%

5. None of these

Answer : 10%

Question No. 34

A, B and C enter into a partnership, A invest X + 6000, B invest 5X + 8000 and C invest X + 5000 for one year if B

share is 6250 from total profit of 12500 then find the difference between investment of A and B.
Options:

1.7000
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2.7100
3.7200
4. Cannot be determined

5. None of these

Answer : None of these

e Question No. 35

Average age of company A is 28 years and average age of both companies A and B is 20 years. If the ratio of

number of employees in company A and B is 3:8, then what is the average age of company B?
Options:

1.17 years

2.21years
3.18 years
4.22 years

5.20 years

Answer : 17 years

e Question No. 36

There are (m + 4) red roses, (m + 9) white roses and ‘m’ pink roses in a bag. If the probability of picking a pink rose is

3/10, then find the value of ‘m’".
Options:

1.39
2.4
3.35
4.28

5. None of these

Answer : 39
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e Question No. 37

A boat can travel 36 km downstream in 40 min. The ratio of the speed of the boat in still water to the speed of the

stream is 5: 4. How much time will the boat take to cover 22 km upstream?
Options:

1.1(5/6) hr
2.3(2/3) hr
3.1(1/4) hr
4.2(1/7) hr

5. None of these

Answer : 3(2/3) hr

e Question No. 38

The area of four walls of a room is 120 cmz. If the length and breadth of the room were equal and the height of the

room is 5 cm, then what is the area of the floor?
Options:

1. 64 sg.cm
2.49 sg.cm
3.36 sq.cm
4.81sqg.cm

5. None of these

Answer : 36 sq.cm

e Question No. 39

Difference between the ages of A and B is same as the difference between the ages of B and C. The difference

between the ages of A and C is 8 years. If their sum of age is 30, then find the ratio of ages of three people.

Options:
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1.7:5:3
2.11:8:5
3.7:10:9
4.3:3:2

5.5:4:3

Answer : 7:5:3

Question No. 40

Time is taken by two trains running in opposite directions to cross a man standing on the platform in 28 seconds

and 16 seconds respectively. It took 24 seconds for the trains to cross each other. What is the ratio of their speeds?
Options:

1.2:3
2.5:7
3.1:3
4.3:7

5.2:1
Answer : 2:1

Direction:
What should comein place of question mark (?) in the following number series?

Question No. 41
1,8, 22,7, 71,106, 148
Options:

1.4
2.45
3.47
4.43

5.93



Answer : 43

Direction:
What should comein place of question mark (?) in the following number series?

e Question No. 42
?,8,32,72,128, 200
Options:

1.0
2.4
3.2
4.6

5.-2
Answer: 0

Direction:
What should comein place of question mark (?) in the following number series?

e Question No. 43
388, ?, 98, 49, 24,15
Options:

1.174
2.217
3.219
4.235

5.243
Answer : 219

Direction:
What should comein place of question mark (?) in the following number series?

ixam

0(6



e Question No. 44

1,115,3,75,7?

Options:

1.26.5
2.268
3.215
4.225

5. None of these

Answer : 225

Direction:
What should comein place of question mark (?) in the following number series?

e Question No. 45

12, 20, 36, ?, 132, 260

Options:

1.72

2.68
3.64
4.66

5.76
Answer : 68
Direction:
In the following questions, two equations numbered | and |1 are given.
You haveto solve both the equations and give answer.
DIfx>y
(2) 1f x
@) Ifx?y

ixam
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@ 1fx?y

(5) If x =y or Relationship between x & y cannot be established
Question No. 46

1.2x% +x -253=0

IL2y?-y-210=0

Options:

1.1

2.2
3.3
4.5

5.4
Answer: 5

Direction:

In the following questions, two equations numbered | and |1 are given.
You haveto solve both the equations and give answer .

Q) Ifx>y

(2) 1T x

@ Ifx?y

@ 1fx?y

(5) If x =y or Relationship between x & y cannot be established
Question No. 47

1.3x2-8x+5=0

IL.2y? -9y +10 =0

Options:

1.1



2.2
3.3
4.4

5.5
Answer : 2
Direction:
In the following questions, two equations numbered | and |1 are given.
You haveto solve both the equations and give answer .
DIfx>y
(2 Ifx
() Ifx?y
@ 1fx?y

(5) If x =y or Relationship between x & y cannot be established

Question No. 48
2 _
I.7x" +26x+24 =0
2
I.5y"-27y +36 =0
Options:

1.1

2.2
3.3
4.4

5.5
Answer : 2
Direction:
In the following questions, two equations numbered | and |1 are given.
You haveto solve both the equations and give answer .
DIfx>y

) If x

ixam
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(5) If x =y or Relationship between x & y cannot be established
Question No. 49
2
l.2x" - 45x + 253 =0
2 -
I.2y"-y-210=0
Options:

1.1

2.2
3.3
4.4

5.5
Answer : 1

Direction:

In the following questions, two equations numbered | and |1 are given.
Y ou haveto solve both the equations and give answer.

Q) Ifx>y

(2) 1T x

@) Ifx?y

@ 1fx?y

(5) If x =y or Relationship between x & y cannot be established
Question No. 50
2
.2x"+41x+210=0
2 _
I.2y” + 45y + 253 =0

Options:

ixam

0(6



0D
ixam Pees @

1.1

2.2
3.3
4.4

5.5
Answer : 1

Direction:

Read the following statement and answer the following questions.

A total of 900 people were either from one or more categories i.e. A, B and C. The ratio between the number of
people in only A, Only B and Only C was 2:3:5 respectively. The sum of people in both B and C but not in A and in
both A and C but not B was 155. The people in both A and B but not C was 30 less than the number of people in

only B. The number of people in all three categories are 50% of number of people in only C.

Question No. 51

Find the difference between the number of people in all the three categories and the number of people in only

category A.
Options:

1.20
2.30
3.25
4.19

5.18
Answer : 25

Direction:

Read the following statement and answer the following questions.

A total of 900 people were either from one or more categories i.e. A, B and C. The ratio between the number of
people in only A, Only B and Only C was 2:3:5 respectively. The sum of people in both B and C but not in A and in
both A and C but not B was 155. The people in both A and B but not C was 30 less than the number of people in

only B. The number of people in all three categories are 50% of number of people in only C.
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e Question No. 52

What is the ratio between the number of people who are in the category B to the number of people in category C?
Options:

1.20
2.30
3.25
4. cannot be determined

5.18
Answer : cannot be determined

Direction:
Read the following statement and answer the following questions.

A total of 900 people were either from one or more categories i.e. A, B and C. The ratio between the number of
people in only A, Only B and Only C was 2:3:5 respectively. The sum of people in both B and C but not in A and in
both A and C but not B was 155. The people in both A and B but not C was 30 less than the number of people in

only B. The number of people in all three categories are 50% of number of people in only C.

e Question No. 53

If out of the total number of people who are in only category A, 30% were males then find the number of females

in only category A.
Options:

1.70
2.30
3.60
4.65

5.75
Answer : 70

Direction:
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Read the following statement and answer the following questions.

A total of 900 people were either from one or more categories i.e. A, B and C. The ratio between the number of
people in only A, Only B and Only C was 2:3:5 respectively. The sum of people in both B and C but not in A and in
both A and C but not B was 155. The people in both A and B but not C was 30 less than the number of people in

only B. The number of people in all three categories are 50% of number of people in only C.

e Question No. 54

If the difference between the number of people only in category A and B and only in category B and C is 55, then

find the number of people in category A.
Options:

1.420
2.430
3.450
4.500

5.200
Answer : 450

Direction:
Read the following statement and answer the following questions.

A total of 900 people were either from one or more categories i.e. A, B and C. The ratio between the number of
people in only A, Only B and Only C was 2:3:5 respectively. The sum of people in both B and C but not in A and in
both A and C but not B was 155. The people in both A and B but not C was 30 less than the number of people in

only B. The number of people in all three categories are 50% of number of people in only C.

e Question No. 55

Find the difference between the number of people in all the three categories and the number of people in category

B.
Options:

1.420
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2.430
3. cannot be determined
4. 500

5. None of these
Answer : cannot be determined

Direction:
Thebar graph showsthe amount of tax paid (in thousand) by three different persons over thetwo years.

30
25
B 20
) 18
15
I I_ : : I

Tarun Apurv Mayank

H 2018 m2019

e Question No. 56

In 2018, Mayank paid 25% of his income as tax and in 2020 the income of Mayank increased by 25% as compared to
2018 and his tax was also increased by 11.11% in 2020 as compared to 2018. In 2018, Mayank spend 1/6th of the
remaining amount in grocery and the rest amount he saved while in 2020 he paid 25% of the remaining amount in

grocery and rest he saved. Find the difference between the amount he saved in both the years.
Options:

1.Rs. 7200
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2.Rs. 7300
3.Rs. 7550
4.Rs. 7590

5. Rs. 7500
Answer : Rs. 7500

Direction:
Thebar graph showsthe amount of tax paid (in thousand) by three different personsover thetwo years.

il “L |

Tarun Apurv Mayank

H 2018 m2019

e Question No. 57

Find the ratio of the tax paid by Mayank and Tarun 2018 and by Apurv and Tarun in 2019
Options:

1.1:3
2.2:2
3.2:3

4.4:3
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5.2:5
Answer : 2:3
Direction:

Thebar graph showsthe amount of tax paid (in thousand) by three different personsover thetwo years.

30
25
20
18
15
12 I I

Tarun Apurv Mayank

N 2018 W 2019

e Question No. 58

In 2019 If Apurv paid income tax and road tax for vehicle in ratio of 7:3, then find the sum of income tax paid by

Apurv in 2019 and the tax paid by Tarun in 2018. (Tax = Income tax + road tax)
Options:

1.Rs. 33000
2. Rs. 32000
3.Rs. 33500
4. Rs. 33600

5.Rs. 33800

Answer : Rs. 33000
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Direction:
Thebar graph showsthe amount of tax paid (in thousand) by three different persons over the two years.

30
25
20
18
15
) I I

Tarun Apurv Mayank

H 2018 m2019

e Question No. 59

The tax paid by Tarun in both the years is how much percent more or less than that by Mayank in both the years?

Options:

1.20.94%
2.2394%
3.18.94%
4.2894%

5.19.94%
Answer : 28.94%

Direction:
Thebar graph showsthe amount of tax paid (in thousand) by three different persons over thetwo years.
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e Question No. 60

Tax paid by Mayank is how much percent than that of Tarun in both the years.
Options:

1.140.74%
2.120.74%
3.160.74%
4.110.74%

5.130.74%
Answer : 140.74%

Direction:

Thetable showsthe no of registered votersand thetotal number of votes casted in two different blocks over the two
years.

Note: Registered = valid votes casted + Invalid votes casted
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Years Registered | Registered | Valid votes | Valid votes
votes in votes in in Block A in Block B
Block A Block B

2012 750 1200 200 1000

2015 900 1300 720 1000

e Question No. 61

Out of the total invalid votes of Block A in 2012, the ratio of male to female invalid voters was 6:5. Then find the

difference between the total female invalid voters of Block A in 2012 and the total invalid votes in Block B in 2015.

Options:

1.30
2.50
3.40
4.28

5.66

Answer : 50

Direction:

Thetable showsthe no of registered votersand thetotal number of votes casted in two different blocks over the two

years.

Note: Registered = valid votes casted + Invalid votes casted
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Years Registered | Registered | Valid votes | Valid votes
votes in votes in in Block A in Block B
Block A Block B

2012 750 1200 200 1000

2015 900 1300 720 1000

e Question No. 62

The invalid votes of Block A and B together in 2015 is how much percent more or less than the total valid votes in

both the blocks in 2012?

Options:

1. 50%
2.66%
3.55%
4.65%

5.60%

Answer : 60%

Direction:

Thetable shows the no of registered votersand thetotal number of votes casted in two different blocks over the two

years.

Note: Registered = valid votes casted + Invalid votes casted
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Years Registered | Registered | Valid votes | Valid votes
votes in votes in in Block A in Block B
Block A Block B

2012 750 1200 200 1000

2015 900 1300 720 1000

e Question No. 63

If the invalid votes in block B in 2012 were again allowed for a recast and only 25% were valid from them, then find

the total number of valid votes in block B in 2012 after recasting.

Options:

1.1000
2.1070
3.1050
4.1080

5.1950

Answer : 1050

Direction:

Thetable shows the no of registered votersand thetotal number of votes casted in two different blocks over the two

years.

Note: Registered = valid votes casted + Invalid votes casted
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Years Registered | Registered | Valid votes | Valid votes
votes in votes in in Block A in Block B
Block A Block B

2012 750 1200 200 1000

2015 900 1300 720 1000

e Question No. 64

Find the ratio of valid votes casted in 2012 from block B to block A from same year.

Options:

1.1:5
2.5:1
3.21
4.3:1

5.4:1

Answer : 5:1

Direction:

The table shows the no of registered votersand the total number of votes casted in two different blocks over the two

years.

Note: Registered = valid votes casted + Invalid votes casted
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Years Registered | Registered | Valid votes | Valid votes
votes in votes in in Block A in Block B
Block A Block B

2012 750 1200 200 1000

2015 900 1300 720 1000

e Question No. 65

Total registered voters in Block A in 2012 is what percent of that in Block B in 2015.

Options:

1. 51.69%

2.52.69%
3.57.69%
4.59.69%

5.67.69%

Answer : 57.69%

Direction:

Read the following information carefully and answer the questions given below:

Six persons A, B, C, D, E and F are sitting around a round table facing towards the centre of the table in a cafeteria.

They like different flowers Tulip, Lily, Sunflower, Lotus, Rose and Daisy but not necessarily in the same order.

A sits on the immediate left of the person who likes Lotus. The only person who is between E and F likes Lily. The

person who is on the immediate left side of C does not like Daisy. D likes Lotus and he is facing the person who

likes Lily. One who likes Sunflower sits opposite to the one who likes Daisy. The one who likes Lotus is on the

immediate left of the person who likes Rose. One who likes Daisy is on the immediate right of C but on the

immediate left of B. E does not like Tulip.
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e Question No. 66
Who among the following likes Rose?
Options:

1A
2.B
3.C
4.E

5. None of these
Answer : C

Direction:
Read the following information carefully and answer the questions given below:
Six persons A, B, C, D, E and F are sitting around a round table facing towards the centre of the table in a cafeteria.

They like different flowers Tulip, Lily, Sunflower, Lotus, Rose and Daisy but not necessarily in the same order.

A sits on the immediate left of the person who likes Lotus. The only person who is between E and F likes Lily. The
person who is on the immediate left side of C does not like Daisy. D likes Lotus and he is facing the person who
likes Lily. One who likes Sunflower sits opposite to the one who likes Daisy. The one who likes Lotus is on the
immediate left of the person who likes Rose. One who likes Daisy is on the immediate right of C but on the

immediate left of B. E does not like Tulip.
e Question No. 67
The only person, who is between E and D likes which flower?

Options:

1. Lotus
2. Tulip
3. Lily

4. Rose

5. None of these
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Answer : Rose

Direction:
Read the following infor mation car efully and answer the questions given below:
Six persons A, B, C, D, E and F are sitting around a round table facing towards the centre of the table in a cafeteria.

They like different flowers Tulip, Lily, Sunflower, Lotus, Rose and Daisy but not necessarily in the same order.

A sits on the immediate left of the person who likes Lotus. The only person who is between E and F likes Lily. The
person who is on the immediate left side of C does not like Daisy. D likes Lotus and he is facing the person who
likes Lily. One who likes Sunflower sits opposite to the one who likes Daisy. The one who likes Lotus is on the
immediate left of the person who likes Rose. One who likes Daisy is on the immediate right of C but on the

immediate left of B. E does not like Tulip.

Question No. 68
Who among the following likes Tulip?
Options:

1A
2.8
3.C
4.F

5. None of these
Answer: F

Direction:
Read the following information car efully and answer the questions given below:
Six persons A, B, C, D, E and F are sitting around a round table facing towards the centre of the table in a cafeteria.

They like different flowers Tulip, Lily, Sunflower, Lotus, Rose and Daisy but not necessarily in the same order.

A sits on the immediate left of the person who likes Lotus. The only person who is between E and F likes Lily. The
person who is on the immediate left side of C does not like Daisy. D likes Lotus and he is facing the person who
likes Lily. One who likes Sunflower sits opposite to the one who likes Daisy. The one who likes Lotus is on the

immediate left of the person who likes Rose. One who likes Daisy is on the immediate right of C but on the
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immediate left of B. E does not like Tulip.

¢ Question No. 69
Which of the following is correctly matched?
Options:

1. A - Lily

2. B - Sunflower
3.E - Rose

4.F - Tulip

5. None of these
Answer : F - Tulip

Direction:
Read thefollowing infor mation car efully and answer the questions given below:
Six persons A, B, C, D, E and F are sitting around a round table facing towards the centre of the table in a cafeteria.

They like different flowers Tulip, Lily, Sunflower, Lotus, Rose and Daisy but not necessarily in the same order.

A sits on the immediate left of the person who likes Lotus. The only person who is between E and F likes Lily. The
person who is on the immediate left side of C does not like Daisy. D likes Lotus and he is facing the person who
likes Lily. One who likes Sunflower sits opposite to the one who likes Daisy. The one who likes Lotus is on the
immediate left of the person who likes Rose. One who likes Daisy is on the immediate right of C but on the

immediate left of B. E does not like Tulip.
e Question No. 70
Who among the following likes Daisy?

Options:

1A
2.C

3.D
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4.E

5. None of these
Answer: E

Direction:

Study the following information car efully to answer the below questions.

Nine persons buy things from a shop. R buys things before O and after M. S buys things immediately before N. More
than four persons buy things before U. Two persons buy things between S and O. P buys things after O. Only one
person buys things between P and Q. Only one person buys things between U and T who buys things after U. Q

does not buy things immediately after and immediately before U.

Question No. 71
Who buys things just before U?
Options:

1.T
2.0
3.5
4.Q

5.N
Answer: O

Direction:
Study the following information carefully to answer the below questions.

Nine persons buy things from a shop. R buys things before O and after M. S buys things immediately before N. More
than four persons buy things before U. Two persons buy things between S and O. P buys things after O. Only one
person buys things between P and Q. Only one person buys things between U and T who buys things after U. Q

does not buy things immediately after and immediately before U.

Question No. 72

Who among the following buys things first?



0D
ixam Pees @

Options:

1.Q
2.P
M
4.1

5. None of these
Answer: M

Direction:

Study the following information carefully to answer the below questions.

Nine persons buy things from a shop. R buys things before O and after M. S buys things immediately before N. More
than four persons buy things before U. Two persons buy things between S and O. P buys things after O. Only one
person buys things between P and Q. Only one person buys things between U and T who buys things after U. Q

does not buy things immediately after and immediately before U.

e Question No. 73
Four of the following five are alike in a certain way. Which of the following does not belong to that group?
Options:

1SR
2.0,N
3P Q
4.U,T

5.M, N
Answer: O, N

Direction:
Study thefollowing infor mation car efully and answer the given questions:

I is mother of H. B has only two children H and G. H is sister of G. E is sister of F. F is son of G. C is grandson of | but G

is not his father. D is mother of E. A and H are married couple.
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e Question No. 74
How is F related to I?
Options:

1. Granddaughter
2.50n

3. Grandson

4. Son-in-law

5. Can't be determined
Answer : Grandson

Direction:
Study thefollowing information carefully and answer the given questions:

I is mother of H. B has only two children H and G. H is sister of G. E is sister of F. F is son of G. C is grandson of | but

G is not his father. D is mother of E. A and H are married couple.
e Question No. 75

What is the relation of E with respect to H?

Options:

1. Nephew

2.50on

3. Niece

4. Can’t be determined

5. None of these
Answer : Niece

Direction:
Study thefollowing infor mation car efully and answer the given questions:

I is mother of H. B has only two children H and G. H is sister of G. E is sister of F. F is son of G. C is grandson of | but G

is not his father. D is mother of E. A and H are married couple.
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e Question No.76
If X is married to C, then how is H related to X?
Options:

1. Son

2. Daughter

3. Mother-in-law
4. Father-in-law

5. Can't be determined
Answer : Mother-in-law

Direction:

Study thefollowing information and answer the questions car efully.

Shweta starts walking from point A, walks 8m in east direction and reach at point B. From point B she takes a left
turn and walks 10m to reach point C, then takes two consecutive right turns and walks ém, reached point D and

14m respectively to reach her friend Geetika’s house.

Juhina starts walking in south direction from point P and walks 5m to reach point Q, then takes a right turn and
walks 6m to reach point R. From point R she takes a left turn and walks 7m to reach at point S. From point S she
takes a right turn and walks 24m and reach at point T, then finally she takes a left turn and walks 7m to reach her

friend’s Geetika’s house.
e Question No. 77
What is the shortest distance between Point T and Point R?

Options:

1.24m
2.25m
3.6m

4.34m

5.48m
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Answer : 25m

Direction:

Study the following information and answer the questions carefully.

Shweta starts walking from point A, walks 8m in east direction and reach at point B. From point B she takes a left
turn and walks 10m to reach point C, then takes two consecutive right turns and walks 6m, reached point D and

14m respectively to reach her friend Geetika’s house.

Juhina starts walking in south direction from point P and walks 5m to reach point Q, then takes a right turn and
walks 6m to reach point R. From point R she takes a left turn and walks 7m to reach at point S. From point S she
takes a right turn and walks 24m and reach at point T, then finally she takes a left turn and walks 7m to reach her

friend’s Geetika’s house.

Question No. 78
What is the direction of Juhina’s house with respect to Shweta’s house?
Options:

1. South west
2. North west
3. North east
4. North

5. East
Answer : North east

Direction:

Study the following information and answer the questions car efully.

Shweta starts walking from point A, walks 8m in east direction and reach at point B. From point B she takes a left
turn and walks 10m to reach point C, then takes two consecutive right turns and walks 6m, reached point D and

14m respectively to reach her friend Geetika’s house.

Juhina starts walking in south direction from point P and walks 5m to reach point Q, then takes a right turn and
walks é6m to reach point R. From point R she takes a left turn and walks 7m to reach at point S. From point S she

takes a right turn and walks 24m and reach at point T, then finally she takes a left turn and walks 7m to reach her
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friend’s Geetika’s house.

¢ Question No. 79
What is the shortest distance possible between Point S and Geetika’s house?
Options:

1.6m
2.3v/5m
3.77/2m
4.25m

5. Cannot be determined
Answer : 25m

Direction:
Study thefollowing information carefully and answer the following question below:
L, M, N, O, P, Q, Rand X are sitting in a straight line but not necessary in the same order. Some of them are facing

north while some are facing south.

Q sits third to right of L.Q sits at one of the extreme ends. P sits third to the left of L. Both the immediate
neighbours of N face north. R is not an immediate neighbour of L. The persons sitting at the extreme ends face the
same direction. Both the immediate neighbour of L faces the direction opposite that of Q. Both the immediate
neighbour of X faces opposite directions. O is one of the immediate neighbours of P and is facing north. M sits

exactly between N and Q. Not more than four persons are facing north. P sits on the immediate right of O.
e Question No. 80
Which of the following pairs is the immediate neighbour of P?

Options:

1.QandR
2.Rand X

3.0andR
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4, Rand L

5.NandL
Answer: O and R

Direction:
Study the following information car efully and answer the following question below:
L, M, N, O, P, Q, R and X are sitting in a straight line but not necessary in the same order. Some of them are facing

north while some are facing south.

Q sits third to right of L.Q sits at one of the extreme ends. P sits third to the left of L. Both the immediate
neighbours of N face north. R is not an immediate neighbour of L. The persons sitting at the extreme ends face the
same direction. Both the immediate neighbour of L faces the direction opposite that of Q. Both the immediate
neighbour of X faces opposite directions. O is one of the immediate neighbours of P and is facing north. M sits

exactly between N and Q. Not more than four persons are facing north. P sits on the immediate right of O.

Question No. 81
Who among the following sits third to the left of R?
Options:

1.0
2.N
3.L
4 M

5.X
Answer : N

Direction:
Study the following information carefully and answer the following question below:

L, M, N, O, P, Q, R and X are sitting in a straight line but not necessary in the same order. Some of them are facing

north while some are facing south.

Q sits third to right of L.Q sits at one of the extreme ends. P sits third to the left of L. Both the immediate

neighbours of N face north. R is not an immediate neighbour of L. The persons sitting at the extreme ends face the
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same direction. Both the immediate neighbour of L faces the direction opposite that of Q. Both the immediate
neighbour of X faces opposite directions. O is one of the immediate neighbours of P and is facing north. M sits

exactly between N and Q. Not more than four persons are facing north. P sits on the immediate right of O.

Question No. 82
How many persons are sitting between M and X?
Options:

1. Three
2. Four
3.0ne
4. Two

5. None of these
Answer : Two

Direction:
Study the following information carefully and answer the following question below:
L, M, N, O, P, Q, R and X are sitting in a straight line but not necessary in the same order. Some of them are facing

north while some are facing south.

Q sits third to right of L.Q sits at one of the extreme ends. P sits third to the left of L. Both the immediate
neighbours of N face north. R is not an immediate neighbour of L. The persons sitting at the extreme ends face the
same direction. Both the immediate neighbour of L faces the direction opposite that of Q. Both the immediate
neighbour of X faces opposite directions. O is one of the immediate neighbours of P and is facing north. M sits

exactly between N and Q. Not more than four persons are facing north. P sits on the immediate right of O.

Question No. 83

Four of the following five alike in a certain way and thus form a group. Which is the one that does not belong to

that group?

Options:
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1R

2.P
3.X
4.N

5.0
Answer: O

Direction:
Study the following information carefully and answer the following question below:

L, M, N, O, P, Q, R and X are sitting in a straight line but not necessary in the same order. Some of them are facing

north while some are facing south.

Q sits third to right of L.Q sits at one of the extreme ends. P sits third to the left of L. Both the immediate
neighbours of N face north. R is not an immediate neighbour of L. The persons sitting at the extreme ends face the
same direction. Both the immediate neighbour of L faces the direction opposite that of Q. Both the immediate
neighbour of X faces opposite directions. O is one of the immediate neighbours of P and is facing north. M sits

exactly between N and Q. Not more than four persons are facing north. P sits on the immediate right of O.
Question No. 84

Who among the following sits fourth to the right of N?

Options:

1R
2.M
3L
4.p

5.0
Answer : P

Direction:

In these questions, relationship between different elementsis shown in the statements. These statementsare
followed by two conclusions. Mark answer as
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e Question No. 85
Statement:P=Q=T=U>V,W>R=S=T
Conclusion: . T=zW I.W>Q
Options:

1. If only conclusion Il follows.

2. If only conclusion | follows.

3. If both conclusion | and conclusion Il follow

4. If neither conclusion I nor conclusion Il follows.

5. If either conclusion | or conclusion Il follows.
Answer : If neither conclusion | nor conclusion Il follows.

Direction:

In these questions, relationship between different elementsis shown in the statements. These statementsare
followed by two conclusions. Mark answer as

e Question No. 86
Statement:J=K>|1>L=N,L=M=R
Conclusion: . J =N [l.K>N
Options:

1. If neither conclusion | nor conclusion Il follows.
2. If only conclusion | follows.

3. If both conclusion | and conclusion Il follow

4. If only conclusion Il follows.

5. If either conclusion | or conclusion Il follows.
Answer : If neither conclusion | nor conclusion Il follows.

Direction:

In these questions, relationship between different elementsis shown in the statements. These statementsare
followed by two conclusions. Mark answer as

0(6
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e Question No. 87
Statement: R
Conclusion: . V>R I.X>R
Options:

1. If only conclusion Il follows.

2. If either conclusion | or conclusion Il follows.

3. If both conclusion | and conclusion Il follow

4. If neither conclusion I nor conclusion Il follows.

5. If only conclusion | follows.
Answer : If both conclusion | and conclusion Il follow

Direction:

In these questions, relationship between different elementsis shown in the statements. These statementsare
followed by two conclusions. Mark answer as

Question No. 88

Statement: G=S=I>F=0O,F=E=U
Conclusion: . U>0 .o=U
Options:

1. If neither conclusion | nor conclusion Il follows.
2. If only conclusion | follows.

3. If both conclusion | and conclusion Il follow

4. If only conclusion Il follows.

5. If either conclusion | or conclusion Il follows.
Answer : If only conclusion Il follows.

Direction:

In each of the questions below some statements ar e given followed by some Conclusions. You haveto take the given
statementsto betrue even, if they seem to be at variance from commonly known facts. Read all the conclusionsand
then decide which of the given conclusionslogically follows from the given statements disregarding commonly
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known facts.

Question No. 89

Statements:

Only a few yarns are Mineral.
Some Mineral are chemical.
No chemical is textile.
Conclusions:

|. Some yarns are not mineral.
Il. Some yarns are not textile.
Options:

1. If only conclusion | follows.

2. If only conclusion Il follows.

3. If either conclusion | or Il follows.

4. If neither conclusion I nor Il follows.

5. If both conclusions | and Il follow.
Answer : If only conclusion | follows.

Direction:

In each of the questions below some statements ar e given followed by some Conclusions. You haveto take the given
statementsto betrue even, if they seem to be at variance from commonly known facts. Read all the conclusionsand
then decide which of the given conclusions logically follows from the given statements disregarding commonly
known facts.

Question No. 90
Statements:
Only a few Google are Wipro.

No Microsoft is Wipro.
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Some Microsoft is IBM.
Conclusions:

I. All Google can be Microsoft.
Il. Some Microsoft are Google.
Options:

1. If only conclusion | follows.

2. If only conclusion Il follows.

3. If either conclusion | or Il follows.

4. If neither conclusion | nor Il follows.

5. If both conclusions | and Il follow.
Answer : If neither conclusion | nor Il follows.

Direction:

In the question below, three statements ar e given followed by the conclusions. You have to take the given statements
to betrueeven if they seem to be at variance with commonly known facts. Read all the conclusions and then decide
which of the given conclusionslogically follows from the given statements disregar ding commonly known facts.

Question No. 91

Statements:

Some Subjects are not Discussions.
All Discussions are Headings.

No Heading is a Paper.
Conclusions:

|. Some Subjects are Paper

IIl. No Subject is a Paper

Options:
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1. Only conclusion | follows

2. Only conclusion Il follows

3. Either conclusion | or Il follows
4. Both conclusions | and Il follow

5. Neither conclusion | nor Il follows
Answer : Either conclusion | or Il follows

Direction:

In the question below, three statements are given followed by the conclusions. You have to takethe given statements
to betrueeven if they seem to be at variance with commonly known facts. Read all the conclusions and then decide
which of the given conclusionslogically follows from the given statements disregar ding commonly known facts.

Question No. 92

Statements:

Only a few Presentations are Seminars.
All Seminars are Conferences.

All Conferences are Interviews.
Conclusions:

I. All Seminars are Interviews

II. All Presentations can be Interviews
Options:

1. Only conclusion | follows

2. Only conclusion Il follows

3. Either conclusion | or Il follows
4. Both conclusions | and Il follow

5. Neither conclusion | nor |l follows
Answer : Both conclusions | and Il follow

Direction:
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I'n each of the questions given below some statements ar e followed by some conclusions. You have to take the given
statementsto betrue even if they seem to beat variance from commonly known facts. Read all the conclusions and
then decide which of the given conclusions logically follows from the given statements disregarding commonly
known facts.

Question No. 93

Statements:

Only pen is song

Some pens are writers

All writers are instrument
Conclusion:

I. Some song are writers.

IIl. No instrument is pen.

Ill. Some instrument are pens.
Options:

1. Only Il'is true

2. Either I and Il is true
3.Only lllis true

4. None follows

5. All is true

Answer : Only lll is true

Question No. 94

How many such pair(s) of letters are there in the word ‘CHAIRMAN’ which have as many letters between them as in

the alphabetical series as we move from left to right?
Options:

1.0ne
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2.Two
3. Three
4. Four

5. Five

Answer : Two

e Question No. 95

If it is possible to make a meaningful word with the second, third, sixth, and eighth letters of the word ‘DOUBTFUL’,
then which of the following will be the second letter from the left of that meaningful word? If no meaningful word

can be made, give ‘X’ as the answer. If more than one meaningful word can be made, give ‘Y’ as the answer.
Options:

1F
2.L
3.0
4. X

5.
Answer: O

Direction:

Five persons viz. H, |, J, K, and M are staying in a five-storey building, but not necessarily in the same order. Each
person is from a different profession viz. CEOQ, Director, Manager, Pilot, and Actor. The lowermost floor is numbered

as 1and the floor immediately above is numbered as 2 and so on.

H lives on a prime-numbered floor and two floors above the one who is the Manager. Only two persons live
between the one who is a Manager and J. The number of floors above J is the same as below the one who is a Pilot.
M lives three floors above the one who is a Pilot. The one who is a CEO lives two floors below M. The humber of

persons lives between H and M is the same as between the one who is a Director and K.

e Question No. 96

Who among the following person lives immediately below H?
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Options:

1K
2.]
M
4.1

5. None of these
Answer : K

Direction:
Five persons viz. H, |, J, K, and M are staying in a five-storey building, but not necessarily in the same order. Each
person is from a different profession viz. CEO, Director, Manager, Pilot, and Actor. The lowermost floor is numbered

as 1and the floor immediately above is numbered as 2 and so on.

H lives on a prime-numbered floor and two floors above the one who is the Manager. Only two persons live
between the one who is a Manager and J. The number of floors above J is the same as below the one who is a Pilot.
M lives three floors above the one who is a Pilot. The one who is a CEO lives two floors below M. The number of

persons lives between H and M is the same as between the one who is a Director and K.
Question No. 97
What is the profession of the one who lives on the topmost floor?

Options:

1. Director
2. Actor

3. Manager
4.CEO

5. None of these
Answer : Actor

Direction:
Five persons viz. H, |, J, K, and M are staying in a five-storey building, but not necessarily in the same order. Each

person is from a different profession viz. CEO, Director, Manager, Pilot, and Actor. The lowermost floor is numbered
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as 1and the floor immediately above is numbered as 2 and so on.

H lives on a prime-numbered floor and two floors above the one who is the Manager. Only two persons live
between the one who is a Manager and J. The number of floors above J is the same as below the one who is a Pilot.
M lives three floors above the one who is a Pilot. The one who is a CEO lives two floors below M. The number of

persons lives between H and M is the same as between the one who is a Director and K.

Question No. 98
In which of the following floor does M live?
Options:

1. Floor 4
2. Floor 5
3. Floor1
4. Floor 3

5. None of these
Answer : Floor 5

Direction:
Five persons viz. H, |, J, K, and M are staying in a five-storey building, but not necessarily in the same order. Each
person is from a different profession viz. CEO, Director, Manager, Pilot, and Actor. The lowermost floor is numbered

as 1and the floor immediately above is numbered as 2 and so on.

H lives on a prime-numbered floor and two floors above the one who is the Manager. Only two persons live
between the one who is a Manager and J. The number of floors above J is the same as below the one who is a Pilot.
M lives three floors above the one who is a Pilot. The one who is a CEO lives two floors below M. The number of

persons lives between H and M is the same as between the one who is a Director and K.

Question No. 99
The number of floors below the one who is a Actor is the same as the number of floors above

Options:



1K

2.H

3. The one who is the Manager
4.The one who is a Pilot

5. None of these
Answer : The one who is the Manager

Direction:
Five persons viz. H, |, J, K, and M are staying in a five-storey building, but not necessarily in the same order. Each
person is from a different profession viz. CEO, Director, Manager, Pilot, and Actor. The lowermost floor is numbered

as 1and the floor immediately above is numbered as 2 and so on.

H lives on a prime-numbered floor and two floors above the one who is the Manager. Only two persons live
between the one who is a Manager and J. The number of floors above J is the same as below the one who is a Pilot.
M lives three floors above the one who is a Pilot. The one who is a CEO lives two floors below M. The number of

persons lives between H and M is the same as between the one who is a Director and K.
e Question No. 100
How many floors are there between the one who is a Director and I?

Options:

1. One

2. Two

3. Three

4. More than three

5.No one

Answer : Two
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